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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	The quantitative information is one which concerns the

	Option A:
	[bookmark: RANGE!B5]Value of some variable

	Option B:
	Rate of change

	Option C:
	Condition or status of a system

	Option D: 
	Presence or absence of some specific object

	
	

	Q2.
	……………….specially deals with the with the study of body dimensions and their applications in context. of design of work

	Option A:
	Industrial Hygiene

	Option B:
	Psychology

	Option C:
	Engineering

	Option D:
	[bookmark: RANGE!B13]Anatomy

	
	

	Q3.
	The job evaluation process in which the rates categories jobs into group is called 

	Option A:
	Point method

	Option B:
	Job classification

	Option C:
	[bookmark: RANGE!B17]Job grading

	Option D:
	Aligned reward strategy

	
	

	Q4.
	In which of the following methods Jobs can be arranged according to the relative difficulty in performing them

	Option A:
	[bookmark: RANGE!B20]Ranking method

	Option B:
	Point method

	Option C:
	Factor comparison method

	Option D:
	Classification method

	
	

	Q5.
	Type of process a paper mill would like to use is

	Option A:
	Job shop process

	Option B:
	[bookmark: RANGE!B26]Continuous flow process

	Option C:
	Intermittent flow process

	Option D: 
	Flow shop process

	
	

	Q6.
	Relationship between two work centers are graphically represented in

	Option A:
	Travel chart

	Option B:
	Flow chart

	Option C:
	[bookmark: RANGE!B32]Proximity chart

	Option D: 
	Flow cost chart

	
	

	Q7. 
	Special purpose material handling system is used in

	Option A:
	[bookmark: RANGE!B35]Line assembly

	Option B:
	Process layout

	Option C:
	Cellular layout

	Option D: 
	Fixed-position layout

	
	

	Q8. 
	Financial management is mainly concerned with

	Option A:
	All aspects of acquiring and utilizing financial resources for firms’ activities.

	Option B:
	Arrangement of funds

	Option C:
	Efficient management of every business.

	Option D: 
	Profit maximization.

	
	

	Q9.
	When assets are subtracted from liabilities it will be equal to

	Option A:
	Capital

	Option B:
	Net Income

	Option C:
	Working Capital

	Option D: 
	Goodwill

	
	

	Q10. 
	Which of the following options is not recorded in the balance sheet?

	Option A:
	Cash

	Option B:
	Rent Expenses

	Option C:
	Building

	Option D: 
	Good Will

	
	

	Q11. 
	__________ is a standardized, multi-skilled team approach which aims at identifying the lowest cost way and ensuring the highest worth to accomplish the functions of a product, process or service

	Option A:
	Reverse engineering

	Option B:
	Value Analysis

	Option C:
	Material engineering

	Option D: 
	Quality engineering

	
	

	Q12. 
	The correct sequence of phases in value engineering is

	Option A:
	Creative phase, information phase, investigation phase, evaluation phase

	Option B:
	Information phase, creative phase, investigation phase, evaluation phase

	Option C:
	Investigation phase, information phase, creative phase, evaluation phase

	Option D:
	Creative phase, investigation phase, evaluation phase, information phase

	
	

	Q13.
	The allowed time for a job equals standard time plus

	Option A:
	Policy allowance

	Option B:
	Interference allowance

	Option C:
	Process allowance

	Option D: 
	Learning allowance

	
	

	Q14. 
	Choose the wrong statement Time study is used to

	Option A:
	Determine overhead expenses

	Option B:
	Provide a basis for setting piece prices or incentive wages

	Option C:
	Determine standard costs

	Option D: 
	Determine the capability of an operator to handle the number of machines

	
	

	Q15.
	An event is indicated on the network by

	Option A:
	A straight line

	Option B:
	A number enclosed in a circle or a square

	Option C:
	A straight line with circles at the ends

	Option D: 
	A dotted line

	
	

	Q16. 
	In the Emerson efficiency plan, a worker receives only his daily wage and no bonus is paid till his efficiency reaches

	Option A:
	50%

	Option B:
	66.60%

	Option C:
	75%

	Option D: 
	80%

	
	

	Q17.
	Which one of the following represents a group incentive plan ?

	Option A:
	Halsey Premium Plan

	Option B:
	Bedaux Plan

	Option C:
	Lincoln Plan

	Option D:
	Rowan Plan

	
	

	Q18.
	In the Halsey system of wage incentive plan, a worker is

	Option A:
	Paid as per efficiency

	Option B:
	Ensured of minimum wages

	Option C:
	Not paid any bonus till his efficiency

	Option D: 
	Never a loser

	
	

	Q19. 
	_______ are also called payments by results.

	Option A:
	Allowances

	Option B:
	Claims

	Option C:
	Incentives

	Option D: 
	Fringe benefits

	
	

	Q20.
	Which of the following is an alternate term used for performance appraisal?

	Option A:
	Quality and quantity of output

	Option B:
	Job knowledge

	Option C:
	Employee assessment

	Option D:
	Incentive plan

	
	

	Q21.
	Which of these is the main purpose of employee assessment?

	Option A:
	Making correct decisions

	Option B:
	To effect promotions based on competence and performance

	Option C:
	Establish job expectations

	Option D: 
	Performance appraisal

	
	

	Q22. 
	For a product layout the material handling equipment must

	Option A:
	Have full flexibility

	Option B:
	Employ conveyor belts, trucks, tractors etc.

	Option C:
	Be a general purpose type

	Option D: 
	Be designed as special purpose for a particular application

	
	

	Q23.
	A device used for lifting or lowering objects suspended from a hook at the end of retractable chains or cable is called

	Option A:
	Hoist

	Option B:
	Jib crane

	Option C:
	Portable elevator

	Option D: 
	Chain conveyor

	
	

	Q24. 
	The type of layout used for manufacturing steam turbine is

	Option A:
	Product layout

	Option B:
	Process layout

	Option C:
	Fixed position layout

	Option D: 
	Plant layout

	
	

	Q25.
	A layout strategy that deals with low-volume, high-variety production is

	Option A:
	Fixed Position Layout

	Option B:
	Retail/Service Layout

	Option C:
	Warehouse Layout

	Option D: 
	Process Oriented Layout



